F.Y.

July 2017

Reg. No. ..ccoreeriereeeeeeceeeeccneens 830

First Year Higher Secondary Improvement Examination

Part - II1
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Cool off time : 15 Minutes

f General Instructions to Candidates :

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

® [Flectronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

mldegreasd:

® mddladis MOETM aloen 15 aldilg ‘©RWd 8o 66so’ ©en30Rdlee;o.
DD VOO B2IOBYTBRRS) HOTMNO aG)PIMOGMI, ARPSHAIMMOQ] GBYUOW
allola@o Ms@®OEMO aldslgl.

® HOMOBWD ag)PIOIMEIM MM E2103yEBRD W3RV ALOQfBsEMo.

® R0 GaIIBYEBWEN OO af)PI®EMo.

® 80 C2loBIMNMUD HEMOOAPIMOIM HDMOOETMSIOY HHF16MMOT Hal
B210B)EBEI0 @VE® EoldBEy MAUAIE MM @M HBMOEETNSIBLNSDIEN).

®  H6EMBE) DISERDHRD, 2N(@EBUR, (NN, ag)(MICL HEBAEAIQ|ClGBEDEM
N30 @les1eMo.

® GoIDBYEIBW DAIOSEBIEe MM@E:IQISINE.

®  3(ID(IMIBHUW 62IYIMIBHIOT HOBHNIGRIQOIHWD BF16HWIES B0]

K EDRIBE(SI6MIB> HldA6MAR0 alBldHI0IEIE ©OalEQIUlHNNIOM aldslg). /
KR-128 1 Turn Over

\




Logic and Ethics are ............
sciences.

a) positive

b) normative

¢) physical

d) social

'M. T. Vasudevan Nair is the
author of the book Naalukettu'
is an example for ............
proposition.

a) relational

b) subject-predicate

¢) general

d) class-membership

'Number 13 is unlucky' is an
example for .............

a) method of intuition

b) method of tenacity

¢) method of authority

d) method of science
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Construct the figure of the
following syllogism.

All gentlemen are polite.

No gamblers are polite.

.. No gamblers are gentlemen.

a) MP
SM
. SP

b) PM
SM
. SP

c) MP
MS
. SP

d) PM
MS
. SP

A mirage perceiving as water is

an example for ............. fallacy of

observation.

a) universal mal-observation

b) non-observation of essential
circumstances

¢) non-observation of essential
instances

d) individual mal-observation
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All gentlemen are polite.

No gamblers are polite.

.. No gamblers are gentlemen.

ay MP
SM
. SP

b) PM
SM
. SP
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MS
. SP
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. SP
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10.

11.

The word 'science' originates
from the Latin word 'Scientia’

which means ...........

The process of passing from one
or more known judgements to a
new judgement is ........... mental

operation.

The law of thought which asserts

'everything must have a cause'

'All books in the school library
are good' is an example for

............ type of induction.

Find out a conclusion for the
following illustration based on
method of concomitant

variation.
AlB causes ClP

AZB causes CZB

If A is True, B is False and C is
True. Find out the truth value
of given statement.

(A\/B)°(~ADC)
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12.

13.

14.

15.

16.

17.

18.

19.

The word 'experiment' is derived

from the Latin word .............

Write the definition of Logic

given by Creighton.

Examine the characteristic

features of science.

The method of agreement is a
systematic effort to find a single
Write the

factor. about

advantages of this method.

Identify the type of hypothesis
from the given example and
explain it. "The chemical
reaction that happens in sun is
nuclear fusion".

Logic and Psychology are
sciences dealing with mental
functions. Write about the
similarities and differences

between them.

What are the steps of scientific

induction?

Examine the qualities of a good

research.
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20. Read the following proposition.

21.

22.

'Some farmers are hardworking'.
Is there any converse for this

proposition? State a reason.

Combine the following

sentences into compound
propositions as directed.
a) You eat more.

You will get more weight.

(Hypothetical)

b) Price of fuel is high.
The price of commodities
increases.

(Conjunction)

c) Titanic is a ship.
Titanic is a movie.

(Alternative)

d) Raj is a bachelor.
Raj is married.

(Disjunction)

The term 'Research' means 'to go
above seeking'. Find out the

salient features of research.
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a) You eat more.

You will get more weight.

(Hypothetical)

b) Price of fuel is high.
The price of commodities
increases.

(Conjunction)

c) Titanic is a ship.
Titanic is a movie.

(Alternative)

d) Raj is a bachelor.
Raj is married.

(Disjunction)
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23.

24.

25.

26.

Reduce the following sentences
into logical form.
a) Every medicines are not
dangerous.
b) Barking dogs seldom bite.
¢) Indians are mostly literates.
d) Sometimes medicines are
allergic.
Change the following
proposition into other three
forms of categorical proposition
and find their distributions with

the help of Euler's circle.

'Some metals are solid'.

a) The word observation

b) What are the different types

of observation?

a) The word 'hypothesis’ comes
from two words 'hypo' and
'thesis' which means ............

b) What are the characteristics

of a good hypothesis?
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a) Every medicines are not
dangerous.

b) Barking dogs seldom bite.

¢) Indians are mostly literates.

d) Sometimes medicines are

allergic.
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27.

28.

29.

a) Symbolize the following
statements.

b) Construct the truth table for
the same.
'"The flower blooms and

fragrance comes out'.

Find out the relation between
the given propositions with the
help of square of opposition.
What are the other opposite
relation between these
propositions?

® All tobacco products are

injurious to health.
® Some tobacco products are

injurious to health.

Explain the rules of categorical

syllogism.

OR
Explain the different forms of
dilemmas with symbolic
example.
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(5)

(6)
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'The flower blooms and

fragrance comes out'.
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® All tobacco products are
injurious to health.

® Some tobacco products are

injurious to health.
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